STUDIO TARRIFF

• STUDIO 2 CHROMA CYCLORAMA

• STUDIO 3 LIVING AREA DINING AREA KITCHEN AREA



SIZE:	100 x	50 x	22
-------	-------	------	----

s t u d	DURATION	SETS	CREW LIMIT	PAINTING AND NAILING	GREEN ROOM	GENNY 125KW (WITHOUT DIESEL)	AMENITIES - PARKING & CAFETERIA	WIFI	PROVIDED LIGHT LOAD	PREP COST	SHOOT DAY
	6	EMPTY SPACE	25	\bigcirc	1	×	5 CARS, 1 LIGHT TEMPO	\bigcirc	12KW	20000	40000
	8	EMPTY SPACE	50	\bigcirc	1	X	10 CARS, 1 LIGHT TEMPO	\bigcirc	12KW	25000	50000
	10	EMPTY SPACE	75	\bigcirc	1	\bigcirc	20 CARS 2 LIGHT TEMPO'S	\bigcirc	20KW AC INCLUDED	33000	65000
	12	EMPTY SPACE	100		2		UNLIMITED* (AS PER AREA)		25KW AC INCLUDED	40000	75000

STUDIO 2 -

CHROMA

SIZE: 50 x 25 x 16 x 20

DURATION	SETS	CREW LIMIT	PAINTING AND NAILING	GREEN ROOM	GENNY 125KW (WITHOUT DIESEL)	AMENITIES - PARKING & CAFETERIA	WIFI	PROVIDED LIGHT LOAD	PREP COST	SHOOT DAY
6	CHROMA FLOOR	20	\bigcirc	1	×	5 CARS, 1 LIGHT TEMPO	\bigcirc	12KW	15000	30000
8	CHROMA FLOOR	30	\bigcirc	1	X	10 CARS, 1 LIGHT TEMPO	\bigcirc	12KW	20000	40000
10	CHROMA FLOOR	50	\bigcirc	1	\bigcirc	20 CARS 2 LIGHT TEMPO'S	\bigcirc	15KW AC INCLUDED	28000	55000
12	CHROMA FLOOR	60	\bigcirc	2	\bigcirc	UNLIMITED* (AS PER AREA)		20KW AC INCLUDED	33000	65000



CYCLORAMA

SIZE: 30 x 30 x 14 x 20

DURATION	SETS	CREW LIMIT	PAINTING AND NAILING	GREEN ROOM	GENNY 125KW (WITHOUT DIESEL)	AMENITIES - PARKING & CAFETERIA	WIFI	PROVIDED LIGHT LOAD	PREP COST	SHOOT
6	CYCLORAMA FLOOR	15	\bigcirc	1	×	5 CARS, 1 LIGHT TEMPO	\bigcirc	12KW	12000	24000
8	CYCLORAMA FLOOR	20	\bigcirc	1	X	10 CARS, 1 LIGHT TEMPO	\bigcirc	12KW	15000	30000
10	CYCLORAMA FLOOR	25	\bigcirc	1	\bigcirc	20 CARS 2 LIGHT TEMPO'S	\bigcirc	15KW AC INCLUDED	18000	36000
12	CYCLORAMA FLOOR	30	\bigcirc	2	\bigcirc	UNLIMITED* (AS PER AREA)	\bigcirc	20KW AC INCLUDED	30000	60000

SIZE: 50 x 25 x 16 x 20

→ HOUSE SETUP.

INFO	<u> </u>				\rightarrow HOUSE	SEIUP	. • • • • • • • • • • • • • • • • • • •				
₹s t u d	DURATION	SETS	CREW LIMIT	PAINTING AND NAILING	GREEN ROOM	GENNY 125KW (WITHOUT DIESEL)	AMENITIES - PARKING & CAFETERIA	WIFI	PROVIDED LIGHT LOAD	PREP COST	SHOOT DAY
	4	LIVING AREA	10	\bigcirc	1	X	2 CARS, 1 LIGHT TEMPO	\bigcirc	8KW	4000	8000
	6	LIVING AREA	20		1	X	10 CARS, 1 LIGHT TEMPO	\bigcirc	10KW	6000	12000
	8	LIVING AREA	30	\bigcirc	1	\bigcirc	20 CARS 2 LIGHT TEMPO'S	\bigcirc	10KW	8000	16000
	10	LIVING AREA	40	\bigcirc	2	\bigcirc	25 CARS 2 LIGHT TEMPO'S	\bigcirc	12KW	10000	20000
	12	LIVING AREA	50	\bigcirc	2		UNLIMITED* (AS PER AREA)	\bigcirc	12KW	12000	24000

[⊸]STUDIO 3 [←]

SIZE: 50 x 25 x 16 x 20

→HOUSE SETUP ←

DURATION	SETS	CREW LIMIT	PAINTING AND NAILING	GREEN ROOM	GENNY 125KW (WITHOUT DIESEL)	AMENITIES - PARKING & CAFETERIA	WIFI	PROVIDED LIGHT LOAD	PREP COST	SHOOT DAY
4	DINING AREA	10	\bigcirc	1	X	5 CARS, 1 LIGHT TEMPO	\bigcirc	8KW	6000	12000
6	DINING AREA	20	\bigcirc	1	X	10 CARS, 1 LIGHT TEMPO	\bigcirc	10KW	8000	16000
8	DINING AREA	30		1	X	20 CARS 2 LIGHT TEMPO'S	\bigcirc	10KW	10000	20000
10	DINING AREA	40		2		UNLIMITED* (AS PER AREA)		12KW	12000	24000
12	DINING AREA	50		2	\bigcirc	UNLIMITED* (AS PER AREA)	\bigcirc	12KW	15000	30000

STUDIO 3 °

SIZE: 50 x 25 x 16 x 20

HOUSE SETUP

DURATION	SETS	CREW LIMIT	PAINTING AND NAILING	GREEN ROOM	GENNY 125KW (WITHOUT DIESEL)	AMENITIES - PARKING & CAFETERIA	WIFI	PROVIDED LIGHT LOAD	PREP COST	SHOOT DAY
4	KITCHEN AREA	10	\bigcirc	1	X	5 CARS, 1 LIGHT TEMPO	\bigcirc	8KW	8000	16000
6	KITCHEN AREA	20	\bigcirc	1	X	10 CARS, 1 LIGHT TEMPO	\bigcirc	10KW	10000	20000
8	KITCHEN AREA	30	\bigcirc	1	\bigcirc	20 CARS 2 LIGHT TEMPO'S	\bigcirc	10KW	12000	24000
10	KITCHEN AREA	40	\bigcirc	2	\bigcirc	UNLIMITED* (AS PER AREA)		12KW	14000	28000
12	KITCHEN AREA	50		2	\bigcirc	UNLIMITED* (AS PER AREA)	\bigcirc	12KW	18000	36000



STUDIO 3 ° HOUSE SETUP

SIZE: 50 x 25 x 16 x 20

DURATION	SETS	CREW LIMIT	PAINTING AND NAILING	GREEN ROOM	GENNY 125KW (WITHOUT DIESEL)	AMENITIES - PARKING & CAFETERIA	WIFI	PROVIDED LIGHT LOAD	PREP COST	SHOOT DAY
4	ANY 2 SETS	20	\bigcirc	1	X	5 CARS, 1 LIGHT TEMPO	\bigcirc	8KW	9000	18000
6	ANY 2 SETS	25	\bigcirc	1	X	10 CARS, 1 LIGHT TEMPO	\bigcirc	10KW	12000	24000
8	ANY 2 SETS	30		1	\bigcirc	20 CARS 2 LIGHT TEMPO'S	\bigcirc	10KW	15000	30000
10	ANY 2 SETS	40	\bigcirc	2	\bigcirc	20 CARS 2 LIGHT TEMPO'S	\bigcirc	12KW	18000	36000
12	ANY 2 SETS	50	\bigcirc	2	\bigcirc	UNLIMITED* (AS PER AREA)	\bigcirc	12KW	20000	40000

STUDIO 3 ←

SIZE: 50 x 25 x 16 x 20

.HOUSE SETUP.

s t u d	i o				- 11003L	SLIUF					4.1
3 (u u	DURATION	SETS	CREW LIMIT	PAINTING AND NAILING	GREEN ROOM	GENNY 125KW (WITHOUT DIESEL)	AMENITIES - PARKING & CAFETERIA	WIFI	PROVIDED LIGHT LOAD	PREP COST	SHOOT DAY
	4	KITCHEN LIVING DINING	20	⊘	1	X	5 CARS, 1 LIGHT TEMPO	\bigcirc	12KW	18000	35000
	6	KITCHEN LIVING DINING	25	\bigcirc	1	X	10 CARS, 1 LIGHT TEMPO	\bigcirc	12KW	22000	40000
	8	KITCHEN LIVING DINING	30	\bigcirc	1	\bigcirc	20 CARS 2 LIGHT TEMPO'S	\bigcirc	12KW	25000	45000
	10	KITCHEN LIVING DINING	40	\bigcirc	2	\bigcirc	20 CARS 2 LIGHT TEMPO'S	\bigcirc	15KW AC INCLUDED	27000	55000
	12	KITCHEN LIVING DINING	50		2		UNLIMITED* (AS PER AREA)		20KW AC INCLUDED	38000	65000



TERMS & CONDITIONS

Things to take care of at Pinhole Studio (We just want to keep everything NEAT & CLEAN)

- 1. No Smoking Inside any Studio floor. If found a Fine of 1000 Rs. will be Levied.
- 2. Chewing tobacco is not allowed inside the full Premises. If found a Fine of 1000 Rs. will be Levied.
- 3. Washroom is Sperate for HOD's and Labor, Lightman etc.
- 4. Any Liquid item is not allowed on Chroma Floor.
- 5. Do not Spread any wastage outside the Studio floor.
- 6. Pantry should be in the Area specified as Cafeteria given by Studio.
- 7. Light and Equipment truck will unload in the Unloading Area.
- 8. Make sure you do not put any object in front of the Graffiti wall.
- 9. You have to use the genset provided by the studio.
- 10. Any area in the premises if used for filming is extra and chargeable.
- 11. If the load provided in the package exceeds, then Diesel will be charged @110 Rs/Litre.
- 12. Reset needs to be done on the same day of shoot, if not then studio has the full rights to levy cost in the

final invoice or collect it at the time of final payment.

- 13. Pinhole Studio Premises if left littered, a FINE Of 5000 will be charged at the time of final payment.
- 14. Studio has no liability to hold with any kind of accidents occurring to filming crew.
- 15. If prep day exceeds more than two days, the third day will be automatically considered as shoot day.
- 16. If the duration exceeds, of shoot, it will be charged as per the package rates and on per hour basis



TERMS & CONDITIONS

Payment Paying Terms

- 1. 50% Advance is Compulsory to hold the booking.
- 2. 50% Before Shoot Starts.
- 3. 50% Cancellation fee will be charged.
- 4. Please note till the time we do not receive advance, booking will not be considered.
- 5. No equipment will be allowed out of the premises until the studio's payment is cleared.
- 6. Interest @24% p.a. will be levied if payment is not made on the same date.